M10 - 5.1 - Factoring GCF Notes

Remove Greatest Common Factor "GCF."

12x + 8 = Divide both
terms by GCF

GCF =4 |12x 8

Check your answer by Distribution

b

— +—-=3x+2 4(3x + 2)
- 4 4 12x + 8
4 times 4 times _
whatis 12x  Whatis 8 Answer goes in The answer should be the same
brackets as the original question.
2x% +3x = 12x% + 8x =
. GCF = x GCF = 4x
2 3 _
XA = 8x%y + 4xy =
_ .2

—2x+8
(—x-2)= 2-x)= GCF = —1
—-1(x+2) = GCF = —1 —1(-2+x) =
Rearrange Order
@ of the Terms
ab + cb GCF=b (64 2) 4+ 40x 4 2) GCF = (x +2)
x(x X =
They both have a b They both have a (x + 2)
Take outa b Take outa (x + 2)
Poetry
2x%+3x+4x+ 6 2?63y 44
2x%4+3x) | (+4x + 6 X - X T ax
( )| { ) Group 2x2+3x+4x +6 Rearrange Order of Terms
x(2x +3)+2(2x+3) GCF, GCF
o ©
1 GCF =2 1 GCF =
2x — E (Ex + 4) N 2
1 2 1 1
@ 271 2%z~ @ 4+-=4x==38
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